SPEED UP SMART

EEEEEEEEEEE

SPARE PARTS CATALOGUE 2022

01/01/2023

WWW.ZUMEX.COM


http://www.zumex.com/
http://www.zumex.com/

Zulmex

SPARE PARTS CATALOGUE 2022

SPEED UP SMART

DESCRIPTION COMPOSITION FOTO

Fastener support cap (16units)

S3300000:00 FASTENER SUPPORT CAPS

For machines with serial number subsequent to 218197. Caps used as well in reference

S3300100:00

Cleaning brush "‘“\
$3300002:00 CLEANING BRUSH T

Valid for all the serial numbers b

Allen Cap M8 (4Units) + Allen Cap M6 (4Units) + Allen Cap M5 (2Units) ‘ ‘ ‘
S3300003:00 SPEED ALLEN CAPS ‘ ‘

Valid for all the serial numbers of Speed ) 9 )

)

Speed Pro Gearbox cap

S3300004:00 SPEED PRO GEARBOX CAP
Valid for Speed PRO and Speed UP without EW system

Syncronization tool for squeezer gear group

S3300006:00 SYNCHRONIZATION TOOL

Valid for all Essential serial numbers

FEEDER ELBOW SECURING 2 x security knobs M5x16 Stainless Steel

S3300007:00
KNOBS Valid for all the serial numbers
Asp right peel ejector
S$3300010:04 RIGHT PEEL EJECTOR
For machines with serial number subsequent to 207530
Asp left peel ejector
S$3300020:04 LEFT PEEL EJECTOR

For machines with serial number subsequent to 207530

(20112/2022)

Lulliex: Pag.2-19



Iumex

SPARE PARTS CATALOGUE 2022

Valid for all the serial numbers of Speed

SPEED UP SMART
DESCRIPTION COMPOSITION FOTO
SPEED PRO RETAINING Speed PRO retaining knob (3Uﬂit$)
S3300041:02 KNOB (3
( Uts) Valid for Speed Pro, Speed S Plus and Speed UP machine, from serial number 420009

Peel ejector pivot holder (2units)

$3300060:00 woredbociind
( Uts) For machines with serial number subsequent to 207530

Fastener holder + Fastener with stainless steel spring + Silicone joint + Cap (4units) + DIN 912
$3300100:01  |FASTENER W/SCREWS v2.0 5" (4uns)

For all machines with serial number subsequent to 218197

Bearing 6007 2RS (2units)
$3300110:00 6007 2RS BEARINGS (2uts)

Valid for all serial numbers

Blade cover
$3300125:00 BLADE COVER

Valid for all the serial numbers

Asp Blade holder V 2.1
S$3300130:03 ASP BLADE HOLDER STD

For all machines Speed, Speed PRO and Speed UP with serial number subsequent to 207530

Kit L Blade holder
S$3300133:01 KIT L BLADE HOLDER Valid for all the serial numbers of Speed Pro

* L Kitinstalled

Seeger ring (4units) O
S$3300150:00 JUICERS SEEGER RING KIT ( ) 0 ( )

Zumex:

(20/12/2022)
Pag.3-19




Iumex

SPARE PARTS CATALOGUE 2022

SPEED UP SMART
DESCRIPTION COMPOSITION FOTO
Asp upper plastic pressing (2units)
$3300240:01 ASP UE:FI_R;RESSING
(2uts) Valid for all Speed, Speed PRO and Speed UP machines until serial number 482219
Asp Kit S upper plastic pressing (2units)
$3300242:01 ASP KIT S UPPER PLASTIC
PRESSING UNIT (ZUts) Valid for all the serial numbers, with the S kit installed
Kit L upper plastic pressing (2units)
o | [TLIERILATO
U ( Uts) Valid for all the serial numbers of Speed Pro and Speed UP with the L Kit installed
0S UPPER PRESSING UNIT |05 upper pressing (2units)
S3300248:00
(ZUts) Valid for all machines from serial number 482220
Internal separator (4units)
$3300250:00 BEARINGSKSI_FPARATOR
Valid for all the serial numbers
Base rubber
S3300260:00 SPEED BASE RUBBER
Valid for all the serial numbers of Speed
ASP LOWER PRESSING Asp lower plastic pressing unit (2units)
S3300310:03 NIT (2
U (2uts) Valid for all Speed, Speed PRO and Speed UP machines until serial number 482219
Asp Kit S lower plastic pressing unit (2units)
$3300312:01 ASP KIT S LOWER PLASTIC
PRESSING UNIT (2uts) Valid for all the serial numbers, with the S kit installed

Zumex:

(20/12/2022)
Pag.4-19




Zulmex

SPARE PARTS CATALOGUE 2022

SPEED UP SMART

DESCRIPTION COMPOSITION FOTO

KIT L LOWER PLASTIC Kit L lower plastic pressing unit (2units)

$3300313:00 PRESSING UNIT (2uts)

Valid for all the serial numbers of Speed Pro and Speed UP with the L Kit installed

0S LOWER PRESSING UNIT|OS Lower pressing (2units)

S53300318:00 (2uts)

Valid for all machines from serial number 482220

SPEED FEEDER GEARING Complet feeder gear box + DIN 933 Screw (3uts) + DIN 127 Screw (3uts)

$3300331:00 KIT
Valid for Speed, from the serial number 420009

Speed feeder plate
$3300340:00 SPEED FEEDER PLATE

Valid for all the serial numbers of Speed

Button rubber protection

BUTTON RUBBER
PROTECTION ROUNDED |Valid for machines with serial number subsequent to 382494 **For machines previous to this
serial number must use the kit S3300850:00

S3300591:00

KIT M SECURING KNOBS Securing knob (2units) + Silicone joint (2 units)

$3300670:01 2uts)

Valid for all the serial numbers

KIT L SECURING KNOB Securing knob (2units) + Silicone joint (2 units)

S$3300671:00 2
(2uts) Valid for all Speed PRO, S PLUS and UP with Kit L installed

KIT S SECURING KNOB Securing knob (2units) + Silicone joint (2 units)

S53300672:00 (2uts)

Valid for all the serial numbers with Kit S installed

(20112/2022)

Lulliex: Pag.5-19



Zulmex

SPARE PARTS CATALOGUE 2022

SPEED UP SMART

DESCRIPTION COMPOSITION FOTO

Speed UP juice container + Gasket

$3300685:01 SPEED UP TRAY

Valid for all Speed UP machines from serial number 461791
* For previous machines use the update kit S330224X:01

Speed S Plus Self Base + Base Profile + DIN 1587 Nut + Monofase suppressor + DIN 125
SPEED SELF SERVICE Washer (2uts) + DIN 6798A Washer + DIN 912 Screw M6 + DIN 912 M8 Screw (4uts) + DIN 125

: Washer M8 (4uts) + Cable cover + DIN 965 Screw (3uts) + Protection profile
$3300693:02 PULPOUT BASE (4uts) (3uts) p
Valid for all machines of model Speed UP, Pomegranate 230V and Speed S Plus Self Service
ON/OFF Switch with Led+ Silicone protector + NC/NO Switch body
S3300851:00 SPEED PRO SWITCH KIT
Valid for all machines Speed PRO, from the serial number 420009
Plate shaft + fastener + Holder fastener + O-ring joint + Security ring DIN 472 + Bearing 6005 2RS
$3300880:00 SPEED SHAFT PLATE KT |{24s)* Securty ring DIN 471

Valid for all the serial numbers of Speed

Speed S Plus feeder elbow + DIN 916 Screw (2uts) + Heyco M5 Cap (2uts)
$3300911:02 SPEED S PLUS FEEDER

ELBOW Valid for all machines Speed UP, S Plus and for Speed PRO machines
Feeder elbow KIT S w/Block + DIN 916 Screw (2uts) + Heyco M5 Cap (2uts)
$3300912:02 SPEED PRO /S PLUS KIT S
- FEEDER ELBOW Valid for all Speed PRO, UP and S Plus machines with Kit S installed, from the serial number
420009
Feeder elbow KIT L w/Block + DIN 916 Screw (2uts) + Heyco M5 Cap (2uts)
$3300913:01 SPEED PRO/S PLUS KIT L
- FEEDER ELBOW Valid for all Speed PRO, UP and S Plus machines with "L" Kit installed, from the serial number
420009
Speed Pro Self Service Inner filter
$3300972:00 SPEED SELF SERV. PRO

INNER FILTER Valid for Speed UP, S Plus and PRO Self service, from the serial number 420009

(20112/2022)

Lulliex: Pag. 6 - 19



Zulmex

SPARE PARTS CATALOGUE 2022

SPEED UP SMART

DESCRIPTION COMPOSITION FOTO

SPEED PRO FEEDER Speed Pro feeder basket

S$3300981:01
BASKET Valid for all machines Speed UP, S Plus and PRO, from the serial number 420009

Clasic feeder articulation assembled

SPEED FEEDER
ARTICULATION W/P Valid for all Speed machines with serial number 353371, 353372, 353373, 353374, 353378 and
subsequents, or machines updated with kit S3301070:00

S53301080:00

220/230V 0.4CV 50/60Hz Motor + Triple wall bypass + Female connection box + DIN 933 Screws
S3301100:01 230V JUICERS MOTOR (4units) + Triple cable gland

Valid for all the serial numbers of 230V

120V 0.5CV 60Hz Motor + Triple wall bypass + Female connection box + DIN 933 Screws (4units)
$3301110:00 115V JUICERS MOTOR  |* T"Ple cadle gland

Valid for all the serial numbers of 115V

SPEED PRO TAP Speed PRO tap detector + Magnetic detector-PCB cable (TP)

S3301121:01 DETECTOR

Valid for Speed UP, S Plus and Pro Self service model, from serial number 420009

SPEED PRO TAP Magnetic detector-PCB cable (TP)

$3301122:00 DETECTOR CABLE

Valid for Speed UP, S Plus and Pro Self service model, from serial number 420009

Speed Pro front cover detector + DIN 912 Screw + DIN 6798A Screw + DIN 125 Washer + Pin
SPEED PRO SAFETY  (fast-on

S3301131:01 DETECTOR

Valid for Speed UP, S Plus and Pro Self service model, from serial number 420010

SPEED PRO/S PLUS  |Bys PCD -Speed PRO Keyboard

S3301161:00 KEYBOARD CONECTION
BUS Valid for Speed UP, S Plus and Pro Self service model, from serial number 420009

(20112/2022)

Lulliex: Pag.7-19



SPARE PARTS CATALOGUE 2022

Zulmex

SPEED UP SMART

DESCRIPTION

COMPOSITION

FOTO

S3301211:00

SPEED REDUCER 1:30

Reducer MVF 49F Rel.1:30 + DIN 933 Screw (4units) + DIN 7991 Screw (4units) + DIN 9021
Washer (4units) + DIN 127 Washer (4units) + DIN 934 Nut (4units)

For all Speed machines until serial number 482219

SPEED REDUCER KIT 1:30

Orthogonal Reducer 1:30 + DIN 933 Screw (4units) + Intermediate adjustable bridle + DIN 1481
Elastic bolt + DIN 7991 Screw (4units) + DIN 125 Washer (4units) + DIN 7984 Screw (4units) +
DIN 125 Washer (4units) + DIN 934 Nut (4units) + Z10 Reducer shaft + Supplement + key 8x7x40

$3301213:00 Z10 + DIN 912 Screw + DIN 127 Washer + Gear washer
For all 230V Speed PRO / PLUS / UP machines
Orthogonal Reducer 1:30 + DIN 933 Screw (4units) + Intermediate adjustable bridle + DIN 1481
Elastic bolt + DIN 7991 Screw (4units) + DIN 125 Washer (4units) + DIN 7984 Screw (4units) +
$3301214:00 SPEED REDUCER KIT 1:30 |DIN 125 Washer (4units) + DIN 934 Nut (4units) + Z9 Reducer shaft + Supplement + key 8x7x40
- 79 + DIN 912 Screw + DIN 127 Washer + Gear washer
For all 115V Speed PRO / PLUS / UP machines
Orthogonal Reducer 1:30 + DIN 933 Screw (4units) + DIN 1481 Elastic bolt + DIN 127 Washer
$3301215:00 SPEED REDUCER 1:30 (4units) + DIN 125 Washer (4units) + DIN 934 Nut (4units)
For all Speed machines from serial number 482220
MART Connectivity Board
SMART CONNECTIVITY  [° y
S3301306:00 BOARD
For all machines Versatile and Speed SMART
GSM Antenna
S3301307:00 GSM ANTENNA
For all Versatile Pro CASHLESS / SMART and Speed SMART
SPEED SMART Speed SMART Comunication cable
53301309:00 COMUNICATION CABLE
For all Speed SMART
SPEED PRO KEYBOARD Speed PRO Touchpad + Keyboard module + DIN 965 (6units)
S3301311:00 MODULE

Valid for Speed UP, S Plus and Pro Self service model, from serial number 420009

Zumex:

(20/12/2022)
Pag.8-19




Zumex

SPARE PARTS CATALOGUE 2022

SPEED UP SMART

DESCRIPTION COMPOSITION FOTO

SPEED PRO JUICE Juice container Detector Speed Pro + Board - Tray connection wire (TR)

$3301371:00 CONTAINER DETECTOR

Valid for Speed UP, S Plus and Pro Self service model, from serial number 420009

SPEED PRO JUICE Board - Tray connection wire (TR)

S3301372:00 CONTAINER DETECTOR
CABLE Valid for Speed UP, S Plus and Pro Self service model, from serial number 420009

Squared peel bucket Zumex Speed UP (2units)
$3301461:00 SPEED UP PEEL BUCKET

(ZUts) Valid for all the serial numbers of Speed UP Countertop
Speed S Plus Front cover + silicone profile + Right side output + Left side output + Turn Button
$3301504:03 SPEED S PLUS COVER  |[2Uts) * Side outputlock (2uts)
Valid for Speed S Plus and UP machine (Pulp Out System installed)
Speed Pro / S Plus Front cover body + silicone profile
SPEED PRO /S PLUS
S$3301505:03 . .
FRONT COVER BODY Valid for Speed machines
*Output with knob System, compatible with outputs S3301513, S3301514 and S3301517
Speed PRO Front cover right side output + Turn Button + Side output lock
$3301513:03 SPEED PRO RIGHT SIDE
- OUTPUT Valid for Speed UP, S Plus and Pro, from serial number 427322 and for all machines updated with
the references of the front cover S3301503:00
Turn Button + Side output lock
S$3301516:01 COVER OUTPUT LOCK Valid for Speed Pro machine, from serial number 427322 and for all machines updated with the
references of the front cover S3301503:01
SPEED S PLUS LEFT SIDE Speed S Plus Front cover left side output + Turn Button + Side output lock
S3301517:03

OUTPUT Valid for Speed UP and S Plus machine (Plup Out System installed)

(20112/2022)

LullieX: Pag. 9-19



SPARE PARTS CATALOGUE 2022

Zulmex

For machines with serial number subsequent to 207530

SPEED UP SMART
DESCRIPTION COMPOSITION FOTO
Speed PRO Touchpad
S$3301586:00 SPEED PRO KEYBOARD
Valid for Speed Pro machine, from serial number 420009
$3301600:00 SPEED PLATE SHAFT - Fastener 50x62x7 + Feeder holder fastener + O-ring + DIN 7981B Screw (3units)
FASTENER SET Valid for all the serial numbers of Speed
key 8x7x40
$3301610:00 SHAFT REDUCER BOLT
Valid for all serial numbers
key 10x8x25 (4units)
S3301611:00 SHAFT JUICER BOLT
Valid for all serial numbers
Intermediate adjustable bridle + DIN 1481 Elastic bolt + DIN 933 Screw (4units) + DIN 9021
Washer (4units) + DIN 127 Washer (4units) + DIN 7991 Screw (4units) + DIN 9021 Washer
$3301621:00 SPEED |CNEE“|}|I!|ED|ATE (4units) + DIN 127 Washer (4units) + DIN 934 Nut (4units)
Valid for all the serial numbers of Speed, for Speed S Plus and UP 230V until serial number
482219
Intermediate adjustable bridle + DIN 1481 Elastic bolt + DIN 7991 Screw (4units) + DIN 125
$3301622:00 SPEED PG/ S PLUS / UP Washer (4units) + DIN 7984 Screw (4units) + DIN 125 Washer (4units) + DIN 934 Nut (4units)
INTERMEDIATE CLAMP Valid for Speed Pomegranate machines from serial number 471894 and for all Speed UP and S
PLUS 230V from serial number 482220
Blade holder rear + Blade holder rod
S$3301630:00 BLADE HOLDER SUPORT
For machines Speed, Speed PRO and Speed UP with serial number subsequent to 207530
Blade holder rear
S$3301635:00 REAR BLADE HOLDER

Zumex:

(20/12/2022)
Pag. 10 - 19




Zulmex

SPARE PARTS CATALOGUE 2022

SPEED UP SMART

DESCRIPTION COMPOSITION FOTO

Metallic lower pressing shaft + key 10x8x25 + DIN 472 Seeger Ring (2units) + 6007 Bearing 2RS
S3301670:00 LOWER PRESSING SHAFT (2units) + Inner separator + Gear Washer + DIN 127 Washer + DIN 912 Screw

Valid for all serial numbers

Metallic upper pressing shaft + key 10x8x25 + DIN 472 Seeger Ring (2units) + 6007 Bearing 2RS
S3301690:00 UPPER PRESSING SHAFT (2units) + Inner separator + Gear Washer + DIN 127 Washer + DIN 912 Screw

Valid for all serial numbers

Z10 Reducer shaft + Supplement + key 8x7x40 + DIN 912 Screw + DIN 127 Washer + Gear

washer

S3301710:00 Z10 REDUCER SHAFT
For all 230V Speed Basic machines and for 115V Speed Tank, Self Service and Cooler machines,
with number previous to 415632. For all 230V Speed machines subsequent to number 415631
Z9 Reducer shaft + Supplement + key 8x7x40 + DIN 912 Screw + DIN 127 Washer + Gear
washer

S3301711:00 Z9 REDUCER SHAFT

For all 115V Speed Basic machines, with serial number previous to 415632. For all 115V Speed
machines subsequent to serial number 415631

Z10 Reducer shaft + Supplement + key 8x7x40 + DIN 912 Screw + DIN 127 Washer + Gear
Z10PG/UP/SPLUS  [vasher

S3301713:00
REDUCER SHAFT For Speed Pomegranate 230V machines, for all 230V Speed UP and S PLUS from serial number
482220
Z9PG/UP/SPLUS  [washer
S3301714:00
REDUCER SHAFT For Speed Pomegranate 115V machines, for all 115V Speed UP and S PLUS from serial number
482220
Electronic box + Electronic box cover + Cable gland (2uts) + Semicircle profile + DIN 7981 Screw
$3301720:01 ELECTRONIC BOX (6uts) + DIN 7981 Screw (2uts) + DIN 7985 Screw (4uts) + Spacers (2uts) + DIN 912 Screw (4uts)
For all Versatile Pro CASHLESS / SMART
Big plastic gear
S3301730:00 BIG PLASTIC GEAR

Valid for all serial numbers

//

/

//

79 Reducer shaft + Supplement + key 8x7x40 + DIN 912 Screw + DIN 127 Washer + Gear /
'

‘

.

(20112/2022)

Lulliex: Pag. 11- 19



Zulmex

SPARE PARTS CATALOGUE 2022

SPEED UP SMART
DESCRIPTION COMPOSITION FOTO
Small plastic gear
S$3301740:00 SMALL PLASTIC GEAR
Valid for all serial numbers
Small metallic gear
S3301750:00 SMALL METALLIC GEAR
Valid for all serial numbers
Speed, Pro, Up and Plus drip tray
S3301760:01 SPEED DRIP TRAY
Valid for all the serial numbers of Speed, PRO, UP and PLUS
Speed, Pro, Up and Plus drip tray filter
S3301770:01 SPEED DRIP TRAY FILTER
Valid for all the serial numbers of Speed, PRO, UP and PLUS
Speed Pro feeder body + DIN 933 Screw (2units) + Plate shaft + Fastener 50x62x7 + Feeder
holder fastener + O-ring + Seeger Ring DIN 472 |-47 + Bearing 6005 2RS (2units) + Seeger Ring
$3301782:01 SPEED PRO FEEDER DIN 471 E-25 + DIN 7981B Screw (3units)
Valid for Speed PRO and UP without Excess Water instaled, from serial number 420009, for all
Speed S Plus machines from serial number 478784
Capacitor 16 uF 400V M8
S$3301790:01 CAPACITOR 16uF MOTOR
For all 230V machines
Capacitor 65 uF 400V M8
S$3301791:00 CAPACITOR 65uF MOTOR
For all 115V machines
. KIT S RIGHT PEEL ASP Right peel ejector + Peel ejector Kit S supplement
S3301798:00 EJECTOR

Valid for all machines with S Kit installed and serial number subsequent to 207530

Zumex:

(20/12/2022)
Pag.12-19




Zulmex

SPARE PARTS CATALOGUE 2022

SPEED UP SMART

DESCRIPTION COMPOSITION FOTO

ASP Left peel ejector + Peel ejector Kit S supplement

S3301799:00 KIT S LEFT PEEL EJECTOR

o

Valid for all machines with S Kit installed and serial number subsequent to 207530 | \ r

KIT L RIGHT PEEL Kit L Right peel ejector
$3301801:00 EJECTOR
Valid for all the serial numbers of Speed Pro with the L Kit installed
Kit L Left peel ejector
S3301802:00 KIT L LEFT PEEL EJECTOR
Valid for all the serial numbers of Speed Pro with the L Kit installed

Speed PRO S.S. rear cover + Profile + DIN 125 Washer (4units) + DIN 912 Screw (4units) + DIN
912 Screw (2units) + DIN 9021 Washer (2units) + Allen Cap M5 (2Units) + Allen Cap M6 (4Units)

A y

S$3301831:01 SPEED PRO REAR COVER
Valid for Speed Pro, S PLUS, UP and Pomegranate machine, from serial number 420009

PRO LOWER FRONT Speed PRO Front cover support + Speed PRO cover retaining knob

$3301841:01 COVER SUPPORT

Valid for Speed Pro, Speed S Plus and Speed UP machine, from serial number 420009

PRO FRONT COVER UPPER Speed PRO Front cover upper support + Speed PRO cover retaining knob

S3301842:01
SUPPORT Valid for Speed Pro, Speed S Plus and Speed UP machine, from serial number 420009
PRO LOWER FRONT Speed PRO Front cover support + Speed PRO cover Antisplash retaining knob

53301843:01 COVER AS SUPPORT
Valid for Speed PRO, Speed S Plus and Speed UP with kit Cover Plus installed.
Frame protection cover + DIN 7985 Screw (2uts) + DIN 125 Washer (2uts)

S3301876:00 FRAMEcpg\?ET: CTION Valid for all Speed Pomegranate ne O '
Speed S Plus from serial number 473365 B

Speed Up from serial number 472658

(20112/2022)

Lulliex: Pag. 13 - 19



Zumex

SPARE PARTS CATALOGUE 2022

SPEED UP SMART

DESCRIPTION COMPOSITION FOTO

SPEED UP SMART Speed UP SMART Stainless steel front cover .

$3301878:00 s
STAINLESS FRONT COVER |rq a1 speed UP SMART machines -

SPEED SELF SERVICE Base elevation supplement

$3301880:00 ELEVATION BASE

For machines placed in countertop, Speed Self Service

Base IEC fuse + DIN 965 Screw (2units) + Fuse 5x20 10A (2units)

S$3301910:00 SPEED PRO SOCKET BASE
Valid for Speed Pro, S PLUS and UP machine, from serial number 420009

Schuko 90° Power supply cable

S3301920:00 SPEED PRO EU-IEC CABLE Valid for Speed Pro, S PLUS and UP machine, from serial number 420009

*Conf. UE

Schuko 90° UL Power supply cable

S3301921:00 SPEED PRO UL-IEC CABLE |, .1 tor speed Pro. S PLUS, UP and machine, from serial number 420009

*Conf. UL

Schuko 90° GB Power supply cable

S3301922:00 SPEED PRO GB-IEC CABLE Valid for Speed Pro, S PLUS and UP machine, from serial number 420009

*Conf. GB

Schuko 90° AUS Power supply cable
SPEED PRO AUS-IEC
$3301923:00 . . .

CABLE Valid for Speed Pro, S PLUS and UP machine, from serial number 420009
*Conf. AUS

Speed-R2 Module 90-250V
SPEED SMART (SMART Configuration)

$3301958:00 ELECTRONIC MODULE

Valid for machines Speed S PLUS and UP Self Service SMART

(20112/2022)

LullieX: Pag. 14 - 19



Zulmex

SPARE PARTS CATALOGUE 2022

SPEED UP SMART

DESCRIPTION COMPOSITION FOTO

Juice container profile

S$3301960:00 SPEED PRO TRAY PROFILE

Valid for all Speed UP, S PLUS and PRO Self Service and Tank machines, from the serial number

420009 },:;;;f/?"’
33301 980.00 SPEED PRO IEC- |[EC-Mainboard wire Speed PRO
MAINBOARD CABLE Valid for Speed UP, S PLUS and PRO machine, from serial number 420009
Speed front cover silicone profile
$3302000:00 D e o
Valid for all front covers of Speed
Latch sheet + Latch fastener + Latch fastener Washer + Latch Spring + DIN 933 Screw (2units) +
DIN 125 Washer (2units) + Din 127 Washer (2units)
S3302012:00 SPEED PRO LEFT LATCH

Valid for Speed UP, S PLUS and PRO Tank and Self Service, from serial number 420009
**Machine rear view

Latch sheet + Latch fastener + Latch fastener Washer + Latch Spring + DIN 933 Screw (2units) +
DIN 125 Washer (2units) + Din 127 Washer (2units)

S3302013:00 SPEED PRO RIGHT LATCH
Valid for Speed UP, S PLUS and PRO Tank and Self Service, from serial number 420009
**Machine rear view

[ O e

Cable cover (52,5mm) + DIN 965 Screw (3uts)
SPEED PRO CABLE

PROTECTOR Valid for Speed UP and S PLUS machine, from serial number 460810
* Check the measure, For bases with 52,5 mm of distance between holes

S53302021:01

SPEED PRO ON/OFF - PCB Speed Pro ON/OFF - PCB cable

S$3302030:00 CABLE
Valid for Speed UP, S PLUS and PRO machine, from serial number 420009

SPEED PRO LED - PCB Speed Pro LED ON/OFF - PCB cable

S$3302040:00 CABLE
Valid for Speed UP, S PLUS and PRO machine, from serial number 420009

(20112/2022)

Lulliex: Pag. 15- 19



Zulmex

SPARE PARTS CATALOGUE 2022

SPEED UP SMART
DESCRIPTION COMPOSITION FOTO
$3302050:00 SPEED PRO CABLE Cable support (4Units) + DIN 912 Screw (4Units) + DIN 125 Washer (4Units)
SUPPORT SET Valid for Speed UP, S PLUS and PRO machine, from serial number 420009
SUPPORT CABLE Valid for Speed UP, S PLUS and PRO machine, from serial number 420009
DIN 913 Stud M4 (2Units) + Self Service and Tank gearbox insert (2uds) + DIN 913 Stud M6 ?
. SPEED PRO STEEL TRAY |(2units) + M10 Speed Pro juice tray Stud .
$3302052:00
INSERT KIT ?
Valid for Speed UP, S PLUS and PRO Tank and Self Service, from serial number 420009 ' ’
Juice Tank gasket
$3302066:00 JUICE TANK GASKET
Valid for Speed UP, S Plus and Pro Self service model, from serial number 420009
ANTISPLASH SPEED S Speed S Plus Antisplash sheet
$3302071:00 PLUS
U Valid for Speed S PLUS and UP, with Kit Cover Plus installed
Speed S Plus / Up Pulpout Set
U U Valid for Speed S PLUS and UP machines
SPEED S PLUS / UP ueeperframe
$3302092:00 PULPOUT FRAME Valid for Speed S PLUS and UP from serial number 482220 and updated with reference h
S3302090:02
Motor cover + Motor shaft support + Radial fastener + PLastic bearing + Motor spring + Motor
. S PLUS / UP PULPOUT  |case shaft + Motor coupling + Oval Motor + DIN 6798A Washer (6uts) + Plastic Screw (4uts) +
S3302100:00 MOTOR SET 230V Motor box + DIN 125 Washer (6uts) + DIN 7985 Screw (4uts)

Valid for Speed S PLUS and UP 230V machines

Zulmex:

(20/12/2022)
Pag. 16 - 19




Zulmex

SPARE PARTS CATALOGUE 2022

SPEED UP SMART

DESCRIPTION COMPOSITION FOTO

Motor cover + Motor shaft support + Radial fastener + PLastic bearing + Motor spring + Motor
S PLUS / UP PULPOUT case shaft + Motor coupling + Oval Motor 115V + DIN 6798A Washer (6uts) + Screw (4uts) +

S$3302105:00 MOTOR SET 115V Motor box + DIN 125 Washer (6uts) + DIN 7985 Screw (4uts)

Valid for Speed S PLUS and UP 115V machines

PULP OUT SYSTEM Sweeper label shaft (2uts)

S3302111:00
SHAFTS (2uts) Valid for Versatile Pro, Speed S PLUS and UP machines

Sweeper label

$53302112:01 PULP OUT SYSTEM FILTER

Valid for Versatile Pro, Speed S PLUS and UP machines

PULPOUT SYSTEM FILTER Sweeper label Injection cover

S$3302120:00 BLACK
COVER Valid for Speed S PLUS and UP machines

PULPOUT SYSTEM Sweeper antisplashing door
ANTISPLASH COVER  |y5jiq for Speed S PLUS and UP machines (Auto sweeper installed)

Sweeper label output cover
$3302140:01 BLACK PULPOUT SYST. OUTPUT
COVER Valid for all Speed S PLUS and UP Pulpout until serial number 482219

S3302130:00 BLACK

Sweeper label output cover
PULPOUT SYST. OUTPUT

COVER Valid for Speed S PLUS and UP from serial number 482220 and updated with reference
S3302090:02

S53302141:00

@

Motor case shaft + Motor case + Motor coupling + Spring
$3302170-00 PULPOULﬁXﬁI. MOTOR
Valid for Speed S PLUS and UP machines

(20112/2022)

ullex: Pag. 17 - 19




SPARE PARTS CATALOGUE 2022

Zulmex

*Support diameter 38mm
* Also applies to machines that have been updated with kit S3302241:01

SPEED UP SMART
DESCRIPTION COMPOSITION FOTO
Single Phase Suppressor
PCB-MOTOR PULPOUT
$3302175:00 CABLE
Valid for Versatile Pro Pulpout, Speed S PLUS and UP 230V machines (Auto sweeper installed)
SIDE OUTPUT ROCKER Side output rocker arm
S3302180:00 DARK ARM
Valid for all Speed machines
Faucet SPB-F + Tap pusher
S$3302230:02 SPEED UP /PG TAP
Valid for all Speed UP / PG
Faucet SPB-F + Tap pusher + Prolongator + Faucet nut + O-Ring
$3302231:01 SPEED UP /PG TAP Valid for all Speed UP / PG machines from serial number 461791
* Also applies to machines that have been updated with kit S330224X:01
Faucet Gasket SPB-F
$3302235:00 ST TAP GASKET Valid for all Speed S PLUS / UP / PG
**Spare part valid for ST Tap S3301236, S3301237, S3301238 and S3301239
Faucet Gasket SPB-F
$3302237:00 STTAP SPRING Valid for all Speed S PLUS / UP / PG
**Spare part valid for ST Tap S3301236, S3301237, S3301238 and S3301239
Centering Tap with blockage + Tap pusher
$3302244:01 SPEEDUP /PG TAP |, i1 or speed Up
CENTERING Conf. Countertop from serial number 461791
* Also applies to machines that have been updated with kit S3302240:01
D38 Bottles Support with blockage + Tap pusher
_ SPEED UP / PG D38 . |
S$3302245:01 BOTTLES TAP SUPPORT Valid for Speed UP Conf. Standard from serial number 461791

Zumex:

(20/12/2022)
Pag. 18 - 19




Zulmex

SPARE PARTS CATALOGUE 2022

SPEED UP SMART

DESCRIPTION COMPOSITION FOTO

D34,4 Bottles Support with blockage + Tap pusher

SPEED UP / PG D34.4
S3302246:01 Valid for Speed UP Conf. US / TC from serial number 461791
BOTTLES TAP SUPPORT *Support diameter 34 4mm
* Also applies to machines that have been updated with kit S3302242:01
D36 Bottles Support with blockage + Tap pusher
SPEED UP / PG ZUMEX
S$3302247:01 Valid for Speed UP Conf. Pack ZUMEX from serial number 461791
BOTTLES TAP SUPPORT *Support diameter 36mm
* Also applies to machines that have been updated with kit S3302243:01
Vers Cashless Photocell
$3302260:00 R o9
For all Versatile Pro CASHLESS
S CAS SS FRO Photocell window + Rear support + Photocell fixation sheet + Flat seal + DIN 934 Nut (4uts) + DIN
. VERS CASHLESS FRONTAL |127 Washer (4uts)
$3302270:00 PHOTOCELL

For all Versatile Pro CASHLESS

Speed S Plus Keyboard Cover

S3302387:00 SPEED KEYBOARD COVER
Valid for Speed UP, S PLUS and PRO machine, from serial number 420009

S PLUS WASTE Podium WIDE waste bucket (50 Lts)

S$3320023:00
CONTAINER Valid for Speed WIDE podium

Speed PRO / S Plus / UP counter top Peel guides
PEEL GUIDE COUNTER TOP

SPEED PRO /S PLUS Valid for Speed PRO S.S. and Speed S Plus S.S. with counter top kit installed
* Only for machines without podium

S3320093:01

(20112/2022)

Lulliex: Pag. 19 - 19



